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Answer EIGHT questions only. Question ONE carries 16 marks but- this is not
compulsory. All other questlons carry 12 marks each.
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Itis said that organizational structure must be such that it enables the
organization to achieve its objectives efficiently. Explain at least four -
ways in which the structure can affect the efﬁcxency of the organization
one way or the other. :

b) Explain the structure of the office in which you are working and
1llustrate the vahdlty of your answer in (ay above.
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Write short notes (about 50 words) on the followmg -
a) Authority

b) Reinsurance
¢) Experience rating
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. Distinguish between -

a) Free market andGovemment regulated market. -
-b)- WANand LAN .
¢) Costcontrol and cost reduction -
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."_Explain the importance of the following statements :-
Delegation is a management tool
Special chatacteristics of the life insurance business include large
volumes, long term contracts, geographlcal spread and. repetitive t1me )
triggered activities.

 Actuarial work calls fora great deal of researclvand frequent analysis
of i mtematlonal | practices.
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State which of the following statements are true and which ones are false 2 each
Give reasons :-
a) Some insurance companies in India dre mutual companies.
b) Group insurance plans are issued only to employers.
c) A medical report forms part of the life insurance contract.
d) A policy holder can challenge the lapse of a policy on the ground that

the renewal premium notice was not received by him.
¢) Non-forfeiture clause deals with foreclosure of a policy.
f) Bonus to with-profit policies are not governed by the Payment of

Bonus.
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Discuss the comparative beneﬁts under the two systems of group
- gratuity schemes?

Are employees required to eontnbute towards the premium payable
under a group gratuity policy? If so, is there an income tax bencﬁt for
the employees?
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A policy hblder requests that his policy for Rs. 50,000_; be split into
two policies for Rs. 25,000 each, and premium mode changed to
quarterly, with no change in term or plan, He has said that he wants to
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make one of the two new policies paid up and would like to continue
the other as the premium on it will be lower. Will this alteration be
allowed? o /
Will an insurer consider a request for removal of extra charged at
commencement, as the circumstances justifying the extra do not exist
any more? Will any new conditions be imposed?
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What are the restrictions on surrendering a policy?
On receipt of the discharge form duly signed by the policy holder, a
cheque for the Surrender Value was sent to him on 16% February. He
- returned the cheque to the insurer on the 24% April with a request that
* the surrender be cancelled and that the policy may be treated as
continuing in force. He has stated that there was an urgent need for
funds in February, but the situation had changed. There is no loan on
the policy and the annual premium due in December of the previous
year had been paid. What action will you take on this request? (Ignore
company practices in this regard) -
- What would have been done if the policy holder had died on 20
April and the nominee had returned the Surrender Value cheque with
the claim? ’ . ’
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A policy holder who died on 24 February 2008 had three policies, taken

on 10® March 1999, 25* September 2004 and 3™ May 2006 respectively,

all for Rs. 1 lakh each. ' ' -

a)  What claim forms would you ask for? .

b) Would you ask for separate claim forms for the three policies?

¢) Would you make enquiries in respect of the third policy?

d)  Will the claims under the three policies be admitted at the same time
or separately? .
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What do you undesstand by “Work simplification’?
How is it done? . '
Explain the advantages of :-
i)  Groupdynamics and
ii) - Panel interviews
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